Q1 Cumulative Review

Student
Date

1 : - ) Y 2%
1. Which expression is equivalent to (209245

(afb+‘1)2

B. 211 (;l 3)2
C. 41 2\3"2

2. Which of the following statements is correct?
3-1 =373.32 3-3'*1 g 3—1
B. 3-3 - 3—1‘33
L. 34 - 3—2‘3—2

D. 3'5 - 3-13-3—:

3. Which numerical expression is
equivalent to 2-2 x 2-3?

e 614 2-1‘ 2_3 _ 2_1.-\»-3

5

L il

D; 64 -

-

: R 2
4. Which value is equivalent to - ol
A 25

o V35 = 5

D. 25
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. m=2-3
~ A

. g,
5. Which of the following is equivalent qu 196

6.

A. 1,400 .6 | . =700
@ M}E’) Qb3S

C. 140

D. 70

><3=2?

A.
o [4-14=190 , SO
7.00 _
B-ﬂ' 42 a0 =14
D. 98
What value of x makes the equation true”

55372

A 2
X227
:

C. 9 - X?’ :j__—

D. 24 X"'g)

7. Mike is about 1.6 meters tall. A

rock is about 2.3 x 10-3*meters
tall. A4bout how many times

shorter is the rock compared to
Mike?

= —LRE The average distance from
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= A > L Jupiter to the Sun is about 7.784

x 108 km. How should this
distance be written in standard

form?

A. 778,400,000,000 km
B. 7,784,000,000 km

(.)778,400,000 km

D. 77,840,000 km

138300008,




g. The population of the United States is approximately
3 % IUSpEDp!E. The population of Germany is
appru:-:imateiyg x 10 people. Which statement about

] :
14. 8x - 12 = 4 =x - 6]
A student concluded that has

infinitely many solutions. Which statement best
describes the student’s conclusion?

the populations of these countries is true? us 5x \D'E

A. The population of Germany is almost 3 times 1
the population of the United States. Cer. 8)( ‘D

A. The conclusion is incorrect because the
equation has no solution.

\ The conclusion is incorrect because there 1s

h lation of G SRTTITINEN 7 s ( 0"’ . .
B, epopuiaton oF DERnamy 15ainoesk - mes exactly one solution to the equation.

the population of the United States. 5—15 % l D‘

C. The population of the United States 1s almost 3 5"’5
. . S— E
times the population of Germany. oA

C. The conclusion is correct because there are
exactly two solutions to the equation.

. . ) . . 3:1 5 D. The conclusion is correct because when
Q r],he population -:nflhe U111ted States is almost 4 simplified. both sides of the equation are
times the population of Germany. equivalent.

X WOV @-’fWE’ﬁd

15. What is the value of x in the
equation 3(x + 4) + 3 = 9?

2"
A&+4)+3=9

10. What is7.31 x 10™%n standard form?

O3 = .013)

11. Which of the following is equivalent to 0.00000073?

X =-06

A. ';'.3:-“\'.1(}'-'J 5()() +3(4){.3':q _@_X - '*_.'{9_.
B. 7.3 x 10° O ODODDD -1 AX + ”Z.j 3= ‘_3 >
& 2o 7.3x 10 xeS 29 -2\

A +\5-1D = 9G-1o
16. What is the solution to the

*i—{.r +5)= 1}

equation =

i‘@):'b (& 13)-00p

7-3 x 107

12. Which equation has no su&tiun?

o 9 ﬂ‘tb?'z*ap
K 3b=20=12 qY;ﬂ Lo5-2

B. 8+l§g=15+3§ qp‘rw qp*z-qp J—(x)k;—(g):\o % {.-5‘:7_(:)]'
@9p+?=6p—2+3p 17. What i-s:I‘Ehe %&alue of win the

equation 6w + 36 = 2w?

Lw 1D = 2w
[puot B ~2w= dw I
L}u_)‘\v?)b =0
4@*5(0'3L°: D"'_i.)tﬁ

13. Which equation has an infinite
number of solutions? m

b(3-2x) +12x =19
6(5)+(o(-1x)+12>::\%
1 -*l’l‘:(;lZX:iE’
18- 0 = 1%
1R =18V

A 7(1-4x)+3x =7
B. 5(2-4x)+4x =10
C. 8(2-2x)+16x=9

@ 6(3-2x)+12x=18
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18. | , 0.0187
Which fraction is equivalent to

It is located between the

numbers 2 and 3 on the number
line.

0 1
55 | P 1t is located between the
] O- l % IV ‘t‘ijb‘j numbers 4 and 9 on the number
Eﬁ’ B. 2 e |0 line.
T 0.
C. 5100 O-19 = \%_..;"2 Z 22. The formula used to determine
a9 || the speed of a car before the
D. _17_ Z .10 Divde bjlb brakes are applied is = /20d
900 |\ \ where s equals the speed of the
S N <L car in miles per hour, and d
0 10 o222 55

18. Which set of numbers contains
only integers?

and Ay
0 1?‘5306'.’&5

20. In which set(s) of numbers does
Tbelong?

irrational only
B. rational only
C. rational and integer

D. rational, integer, and natural

21. Which statement about the location

J7

of = on a number line is true?

A It is located at the number 7 on
the number line.

BT It is located at the number 3.5
on the number line.

51 "
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m&?)Qm - whole #'s
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equals the braking distance. The
braking distance for a car was
60 feet. What was the approximate

speed of the car before the
brakes were applied?

A. 15 mph == {20d
© 35 mph -\1250

= 40

D 40 mph S—_—“- " zo QLQ#EBB

23. A square has an area of 29 square inches. Which

choice below is the best estimate for the side length
of the square?

vlore than S inches but less than 6 inches.

B. More than 7 inches b less than 8 inches.
C. More than 14 inches but less than 15 inches.
D. More than 25 inches but less than 36 inches.
/_\iﬁ
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